Using Parentheses for Exact Answers in One Entry e

Objectives:

e Recall the meaning of exact and approximate
e Perform calculations using one entry

Recall the meaning of exact and approximate

An exact answer has no error from rounding.

An approximate answer should be close, but is still a “near miss”, due to rounding or approximating.
CAUTION: You should always write an exact final answer unless the instructions tell you to round.
CAUTION: Rounding intermediate steps will give an approximate final result, sometimes quite wrong!

Perform calculations using one entry

Round-off errors can become much bigger if a calculation is done from rounded partial results.

To avoid this, do one entry, using parentheses for the order of operations, or use memory locations or Ans.
IMPORTANT: If the instructions say to round, round only the final answer.

41.78 -3(6.913)?
29.188+76.342
Remember that the long fraction bar means that the entire numerator and entire denominator must be

calculated before the results are divided. The calculator follows the order of operations and will not add
41.78-3(6.913)2)

(29.188 +76.342)

. Round to the nearest thousandth.

Example 1: Calculate

or subtract before dividing unless we use extra parentheses, like this:

{ K L4 T L1 Y i tu 0O v P ] W L3 8 [ R L6 Vi Iow Q
4 1 . 7 8 - 3 x 6 9
Press these buttons: -
L1 Y L3 8 v 1} L e M { K L2 Z w Qi L1 Y v P v P mem “ u 0O L6 v
1|3 |G - 2] 9] - 1]8]ls][+]7]s
i L3 0 L4 T L2 Z} L entry solve
BIEEN I
(4], /0-A%g, 91520
A2, 188476, 3420
See this screen: - "2 9626023927 Round the final answer to the nearest thousandth to get -.963
0.073 12669
Example 2: Calculate SOOOO(1+3'?j . Round to the nearest hundredth.

(12x365)
NOTE: The calculator needs parentheses to multiply before exponent, like this: 50000(1 +%)

L5 U catalog o catalog . catalog — catalog o { K L1 Y mem | . catalog o u 0 L3 8

Press these buttons: > 0‘ 0‘ 0‘ 0 ‘- 1 * - 0} 7 3
1 Y L2 zI

e M L3 8 L6 vV L5 v} L H { K L

aemE [T &

R L3 B L6 V L5 U} L entry solve

(s le ) M
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SHERAC 1+, @7 32360
AL 23RS
See this screen: lm 128833, 2327 Round to nearest hundredth to get 120,053.25

3
3.6-7.1 . Round to the nearest thousandth.
45+9.2

NOTE: The parentheses surrounding both the numerator and the denominator do not ensure that the
numerator will be subtracted first! To get the correct answer, use additional parenthesis inside the given

3
parentheses, like this: (M]

Example 3: Calculate (

(4.5+9.2)
K L3 B i H £ V1] W u o i HES Y } L e M { K
3 . 6 - 7 1 +
Pressthese buttons - - [ - -
H U mem ¢ L2 Z} L} L T H L3 B entry solve
JOE MR ARG
LS. B—r.12704, 5+
= I R
See this screen: "« B16E741811] Round to nearest thousandth to get -0.017
102 -13

Example 4: Calculate . Round to the nearest hundredth.

NEY
NOTE: The square rootin the numerator (the square root of a difference, parentheses around the
difference) is different from the square root in the denominator (the square root of 7 only).

PLUS, we need parentheses around the denominator to subtract before divide, like this: =~ z1(072)— 123j
. I L1 Y catalog o L2 z1] W L1 ¥ L3 8} M { K
1 0 2 - 1 3
Press these buttons m - J [ - [: - m
vl wLe 2z} L entry solve JO1B2=130-CLCFa—
=) O e [emer ] <
See this screen: 14. 68931887 Round:

14.61
Try It!
Calculate and round to the nearest hundredth.
1 7.2(43.9) —97.42 3) g2 _(—5)76°63 5) V6 -3

63.08-9.71+(-23.64) 147 -236098 J124-31
2 o30f 1 0038 e g [12-13° i 6 [2=4 17

( 4 ) 62+19 | 4 7-3

Answer Screens

L7 e 2kd 3, 93-97.4 CEMC -32+250—-0C -5 (G2 =-32 T0124-3

2rS0E3.82-9,.71-2 L = = T L I Y, 22

Sebd SEEIZ 5) i 5 b A B 1Y S
1) 28426, 21314 3) el AT R Jrizl—dar d3=Jcl7

b IG5 o I & I B R L. 2—1. 330 -Ch., ASCT=20

S12% 2+1.920¢ 6) 1. 8387 7VedEe
2) I 224, 836HA33 4) 2214963502
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Detailed Solutions

{ K u 0 L2 ZI R L4 T L3 i) W n H L3 B 1 W w 0
N & AElE 2 - IBEaE
i H T T L2 Z} L e M { K L6 VvV L3 0 i . catalog — v P 1 W w
BIERER 1B DB : 8 || - || o Q i
o (7.2#d3, 9 3-97. 4
u 0 L1 Y 1 w L2 Z L3 0 i 1 L6 vV L4 T } L ennysowe%}g&?E EE—E'.FI—E
7 | 1 -l 21| 3 . 6 || 4 “e_"'wr T 2R4sE. 21314
Answer: 20486.21
w Q L3 ] tlog._.{ K L1 Y 1 Wi » catalog o L3 B v P e M L4
NENERE B |- - ][o][3]l8]]=
{ K u 0 e M L1 Y L2 Z} Lenﬁysolvegzail_ EEE__.-'q_:.-"'h':?
 JERIENIERIEN] @ |EE gxarey 8360033 Answer: 92484
{ K v P T H { K ans ? L3 8 L2 Z mem ¥ L2 Z L5 U} w { K ?
N o | EankEn s e
L5 U } L T H { K u 0O L6 V1] W L6 VvV L3 B} M { K L1 Y
al [ | [ | S5
L4 T u 01 W L2 Z L3 6 L6 V catalog . w Qv P L entry solve
all7][=1[2][3]|[e][o][eo][e 'Ill[:::
(O T -~ +250—1 50
A PE—BE AL 1472
ZEETE)
~2173. 343837 | Answer: -5173.55
{ K { K u 0 i . L2 Z1 w L1 Y i : L3 B T H L3 B } L e M { K
N | EEENEN N ENEE ] 0 BN
L6 Vi . L2 Z mem “ L1 Y i W Q} L} L v | entry solve
a1 ]
(v 2—1, 5 30 L6,
41,505k
2214958602 Answer 0.38
{ K - I LG v } W L3 i) ] L o I L1 Y L2 Z L4 T
S,HEHGH[ 3 5] -] - e
1w ez} L “Y"%{iE}—S}fIi124 3
EEREY] ' JEE - BETIZ4E519| Answer 006
o 1 { K L2 Z L1 Y 1] W L4 T} e M L4 T} N 1
. BB (2] (-]« ﬂl ] |e -]
L1 Y u 0} L e M { K u 01 W L3 entry s |e.\rl:l:21 43;43_.\1‘("1?
BEd] ' B3]  [EREE “ enter :"“:?_?f'ma??aqaa‘
Answer: 1.03
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